22.01.21
Maths

Start by completing your timestable square.

Then complete the following. Choose the section you are the most comfortable with. All the questions below will have remainders. You need to decide if it is appropriate to round the answer up or down. For example if egg boxes can hold 6 eggs and you have 38 eggs. How many boxes would you need. The answer is 7, even though the 7th box will not be filled, so you would round the answer or 6 r2 up to 7 because you need 7 boxes to hold all the eggs.
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EXTENTION
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2 – Write a word problem where you round the remainder up.
3 – Write a word problem where you round the remainder down.
4 – Write a word problem where you have to find the remainder.































ANSWERS
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o There are 29 children
in a class. How many
pairs can be made?

©) Christmas cards are
sold in packs of 10.
Nina needs 32 cards.
How many packs will
she need?

€) Each car can carry 3
children. How many
cars are needed to
carry 16 children?

o A garage has 26 tyres.
How many cars can
each be given 4 new

tyres?

© There are five sweets in
each bag. How many
bags can be made
from 48 sweets?

O A teacher hears six
children read every
day. How many days
will it take her to hear
the 28 children in her
class?

o How many 3 m lengths
can be cut from 50m
of rope?

e Four tennis balls can
fit into one can. How
many cans are needed
for 42 balls?

o Tommy has 100
matchsticks. How many
hexagons can he make?

o Each pack holds eight
tomatoes. How many
packs can be made
from 46 tomatoes?

© Verity saves 10p coins.
How many will she
need to collect before
she has saved £1-257

o A baker makes 75
muffins. They are sold
in boxes of twelve.
How many boxes can
be made up?
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o How many complete
weeks are there in 125
days?

Q There are 110 guests
at a wedding. They will
sit at tablds of eight.
How many tables will
be needed?

© Theatre tickets cost
£19 each. How many
tickets can be bought
with £100?

e A ribbon is two metres
long. How many 12cm
lengths can be cut
from the ribbon?

© Each crate holds 20
bottles. How many
crates are needed for
450 bottles?

o Glasses hold 150 ml.
How many glasses will
be needed to take four
litres of juice?
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Always, sometimes or never?

A three-digit number made of consecutive descending digits divided by the next
descending digit will always have a remainder of 1.

Examples: 987 + 6 543 +2

How many possible answers can you find?
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This statement is sometimes true.
These are the possible answers:
432+1=432

543+2=271r1

654+3=218

765+4=191r1

876+5=175r1

987+6=164r3




